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 Ц6ет, Eто9к89 к улPтD4D8олету 

 �е 6л8Oет =4 E6о9Eт64 8 E4D4ктеD8Eт8к8 D4Eт6оD4 

 �DоEтот4 8 удо5Eт6о 6 пD8<е=е=88 

 ДлO 78пEо6OE 8 Fе<е=т=OE D4Eт6оDо6 
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�87<е=т-кD4E8телP ОE=о68т КолоDEкD8= ADP1 пDед=47=4Gе= длO до546ле=8O 6 5ето==Oе D4Eт6оDO, 6 Fе<е=т=Oе, 78пEо6Oе 8 876еEтко6Oе 
D4Eт6оDO длO пD8д4=8O декоD4т86=о7о QDDект4 Eо7д464е<о<у покDOт8N.  еко<е=дуетEO длO окD4H864=8O D4Eт6оDо6 пD8 877ото6ле=88 пл8т 
длO <оIе=8O E4до6OE 8 п4Dко6OE доDо6ек, 4DE8тектуD=OE декоD4т86=OE Qле<е=то6. �D8<е=OетEO длO окD4H864=8O Hтук4туD=OE, кл4доG=OE 
D4Eт6оDо6, EтO6ек длO уEтDо9Eт64 пол4. 
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!тO6к8, Fе<е=т=Oе 8 78пEо6Oе Hтук4туDк8, кл4доG=Oе D4Eт6оDO, 5ето==Oе D4Eт6оDO. 

&�Х��Ч�!К�� Х� �К&� �!&�К� 
 Ц6ет GеD=O9 коD8G=е6O9 кD4E=O9 6елтO9 

�еE уп4ко6к8 0,6 к7 0,5 к7 0,7 к7 0,3 к7 
 4EEод =4 25 к7 EуEо9 E<еE8*    1 54=к4 

Те<пеD4туD4 пD8<е=е=8O    +5°!&+35°! 

Те<пеD4туD4 QкEплу4т4F88    -70°!&+40°! 

*<о6ет 64DP8Dо64тPEO 6 7468E8<оEт8 от 6ел4е<о9 8=те=E86=оEт8 F6ет4. 
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�87<е=т =еоD74=8GеEк89 6еле7оок8E=O9. �4теD84л =е токE8Gе=. 
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1. До5468тP =ео5Eод8<ое кол8GеEт6о п87<е=т4 6 EуEуN EтDо8телP=уN E<еEP. 
2. ТI4телP=о пеDе<еH4тP E<еEP 8 п87<е=т 5е7 до546ле=8O 6одO до од=оDод=о7о EоEтоO=8O. 
3. � G8EтуN е<коEтP до5468тP =ео5Eод8<ое кол8GеEт6о G8Eто9 6одO, 6 Eоот6етEт688 E Dеко<е=д4F8O<8 пDо876од8телO EуEо9 

EтDо8телP=о9 E<еE8, 8 пD8 поEтоO==о< пеDе<еH864=88 до5468тP полуGе==O9 EоEт46 6 6оду. 
4. �еDе<еH4тP до о5D47о64=8O од=оDод=о9 <4EEO. 
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 �D8 D45оте 8EполP7о64тP EпеFоде6ду 8 EDедEт64 8=д868ду4лP=о9 74I8тO оD74=о6 дOE4=8O, 7Dе=8O, ко6=OE покDо6о6. �D8 поп4д4=88 
<4теD84л4 6 7л474 пDо<OтP 8E 5олPH8< кол8GеEт6о< 6одO 8 о5D4т8тPEO к 6D4Gу. �оEле 6Oпол=е=8O D45от 8EполP7уе<Oе 8=EтDу<е=тO 8 
о5оDудо64=8е =ео5Eод8<о тI4телP=о пDо<OтP G8Eто9 6одо9. �еDеGP от дете9. 

� FелOE Eо6еDHе=Eт6о64=8O теE=оло789, ООО «!едDуE» EоED4=Oет 74 Eо5о9 пD46о 6=оE8тP 87<е=е=8O 6 пDодукF8N, =е 74тD47864NI8е еU оE=о6=Oе E4D4ктеD8Eт8к8, 6=оE8тP 
87<е=е=8O 6 д4==уN теE=8GеEкуN к4Dту. ТеE=8GеEк4O к4Dт4 =е от<е=Oет Eо5лNде=8е EтDо8телP=OE =оD< 8 пD468л  Ф 8 =е 74<е=Oет =ео5Eод8<уN длO д4==о7о 68д4 D45от 
пDоDеEE8о=4лP=уN под7ото6ку 8Eпол=8телO. �Dо876од8телP =е =еEет от6етEт6е==оEт8 74 =4DуHе=8е теE=оло788 пDо6еде=8O D45от, 4 т4к6е 74 пD8<е=е=8е пDодукF88 6 FелOE 8 
уEло68OE, =е ук474==OE 6 д4==о9 теE=8GеEко9 к4Dте. �Eе пDоG=оEт=Oе E4D4ктеD8Eт8к8 ук474=O длO о5D47Fо6 пDодукF88, 6OдеD64==OE 6 теGе=8е 28 Eуток. ! поO6ле=8е< 
=4EтоOIе9 теE=8GеEко9 к4DтO 6Eе пDедOдуI8е 6еDE88 Eт4=о6OтEO =еде9Eт68телP=O<8.                                                                                                                                                    ВеDEия 01.21 


